B2

IS raining heavily today.
Answer:

are many clouds in the sky.
Answer:

IS going to snow tomorrow.
Answer:

was a thunderstorm last night.
Answer:

IS a strong wind blowing.

Answer:

are clear skies during the day.
Answer:

was a hailstorm in the afternoon.

Answer:

are chances of rain later.

Answer:

IS very sunny outside.
Answer:

has been foggy all morning.
Answer:




Answers

IS raining heavily today.
Answer: It

are many clouds in the sky.
Answer: There

IS going to snow tomorrow.
Answer: It

was a thunderstorm last night.
Answer: There

IS a strong wind blowing.

Answer: There

are clear skies during the day.
Answer: There

was a hailstorm in the afternoon.

Answer: There

are chances of rain later.

Answer: There

IS very sunny outside.
Answer: It

has been foggy all morning.
Answer: It



